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1. A quart (32 ounces) ofmllk costs 5z 19;a gallon ofmilk costs $7.65. (**There are four quarts ina gallow) 3
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—a. lIdentify the independent and dependent variables. ;
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- Whatlsthe meanlngofthey-mtercept?Whytsn't.tzero? &i O 3‘3 '
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' e. Using the linear model you created how much should you pay for a half-galion of inilk?

How much should you pay for a pint (16 ourices)? H1.-21 ‘ 2
How much should you pay for two liters (1 liter=33.8 ounces)? ﬁ L".'L
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s How many ounces of mllk can| buy w;th $15 437
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2. 1left Raleigh on Thursday &t 4: 00 and drove to Wilinington, a dustance of 160 miles, arriving at 6 :45, N=xt r'lday
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i’m leaving at 2:30 to make the 210 miie drive to Boone. -
a. [fIskeich a graph for this data, what goes oqthe X-axis an\d y-ax:s'v‘ (O, O-) u _1{ [ LO )
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b. What is my driving rate? Write this as a linear eg'uatlon. . . :
* What is the y-mtercept (how fer havé | drivain O hours)? = ™ o -
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What time will | get there? .
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d. How long wouid it take to drive 542 miles?
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if | start driving at 8:00am on Saturday and drive until 12:40pm, hew far will | have traveled?
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f 3. Mr Morton Is very old. In ggs ewasbomwelghlnpgpounds, Nawhc? Welghsz(? pouqJ,,
= a. Determine the independent and depender\vallablﬂs. | )
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d. Using the model, how much do'you think he’li weigh in 202%%‘ this realistic?
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How much does he we.igh in 19887 Expfalp.. ., ..,,,. ' :,, i 1 '
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{ e« 4. Miss Beehive has produced 52’0';'5_ounds of-ﬁdﬁé;fromjher bees. She uses 2 pounds of honey in every }a 5
sells at the Farmer’s Market. '

a. How many pounds wull she have remalmng if she sells 5 jars? 42 jars? oy [ A5 it
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¢ the b. Thé relationship between pounds of huney remaining and number of jars sold Is linear. What is the

independent variable? Dependent?
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. Write a linear equation for this relationsfm :

\d = IXXS20 | c
d. Whatis the eanirg of the slope and they-intercept \bS o
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e. She needs to keep 82 poutids in reserve in order to keep the bees happy What is the greatest number

of jars she can sell?’ 2‘\0\ -)U('b , =
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5. fC== (F 32) relates the' temperatures in Fz!hrenhelt and Celsius. Find the Fahrenheit temperature which
corresponds to0 30°C. : -
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